Instructor: Dr.R.A.G. Seely ’} \\ Assignment 0

Calculus III (Maths 201-DDB)

. Find the sum of the following series:
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. Are the following series convergent? State the test used and show all the appropriate criteria

are met.
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3. Are the following absolutely convergent, conditionally convergent, or divergent? (Again, give a
full justification of your response.)
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Optional “warm-up” questions: Are these C (if appropriate, specify AC or CC) or D?

. cosn > (=" > 1 . tan"'n
LY Q.Zu 3'Zn+ﬁ 4‘ZW

nlnn
n=1

n=1 n=2 n=1

=, e = )" =2 cos(nm)
5.7;77 6. Zm 7.2_:3n+5 8.7; T

- (-1)" = n? 27 ( n—l— 1) sl 1
9. nZ::l - 10. nﬂe—n 11. Z 12. éin(lirln D



